

Trade Id	Trade Date	Trade Time	Settlement Date	Buy/Sell	ISIN	MIC	Issuer Name	Price	Ccy	Volume	Purchase Cost	Venue
1TVN9DKPK	2026-02-16	2026-02-16 09:00:18.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	484	84,942.00	XOSL
1TVN9DKQE	2026-02-16	2026-02-16 09:00:18.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	592	103,896.00	XOSL
1TVN9DKQL	2026-02-16	2026-02-16 09:00:18.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	1,060	186,030.00	XOSL
1TVN9DKRM	2026-02-16	2026-02-16 09:00:18.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	256	44,876.80	XOSL
1TVN9DKTZ	2026-02-16	2026-02-16 09:00:24.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	247	43,348.50	XOSL
1TVN9DL3I	2026-02-16	2026-02-16 09:05:49.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	145	25,534.50	XOSL
1TVN9DL3J	2026-02-16	2026-02-16 09:05:50.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	144	25,358.40	XOSL
1TVN9DL6E	2026-02-16	2026-02-16 09:07:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	347	61,141.40	XOSL
1TVN9DLI4	2026-02-16	2026-02-16 09:16:48.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	385	67,760.00	XOSL
1TVN9DLLO	2026-02-16	2026-02-16 09:19:50.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	46	8,100.60	XOSL
1TVN9DLLP	2026-02-16	2026-02-16 09:19:51.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	383	67,446.30	XOSL
1TVN9DLYR	2026-02-16	2026-02-16 09:34:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	215	37,818.50	XOSL
1TVN9DLYS	2026-02-16	2026-02-16 09:34:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	237	41,688.30	XOSL
1TVN9DLZ8	2026-02-16	2026-02-16 09:35:36.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	289	50,835.10	XOSL
1TVN9DM0A	2026-02-16	2026-02-16 09:36:54.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	331	58,156.70	XOSL
1TVN9DM0Z	2026-02-16	2026-02-16 09:39:29.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	110	19,316.00	XOSL
1TVN9DM10	2026-02-16	2026-02-16 09:39:29.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	239	41,968.40	XOSL
1TVN9DM61	2026-02-16	2026-02-16 09:48:58.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	253	44,528.00	XOSL
1TVN9DM62	2026-02-16	2026-02-16 09:48:59.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	167	29,392.00	XOSL
1TVN9DM7W	2026-02-16	2026-02-16 09:51:25.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	296	52,096.00	XOSL
1TVN9DM80	2026-02-16	2026-02-16 09:51:25.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	253	44,502.70	XOSL
1TVN9DM8M	2026-02-16	2026-02-16 09:52:50.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	183	32,079.90	XOSL
1TVN9DM8N	2026-02-16	2026-02-16 09:52:50.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	246	43,123.80	XOSL
1TVN9DMF5	2026-02-16	2026-02-16 10:02:44.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	400	70,200.00	XOSL
1TVN9DMF6	2026-02-16	2026-02-16 10:02:44.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	39	6,844.50	XOSL
1TVN9DMFF	2026-02-16	2026-02-16 10:02:44.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	303	53,085.60	XOSL
1TVN9DMFV	2026-02-16	2026-02-16 10:02:54.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	261	45,701.10	XOSL
1TVN9DMHO	2026-02-16	2026-02-16 10:03:48.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.40000000	NOK	62	10,874.80	XOSL
1TVN9DMHP	2026-02-16	2026-02-16 10:03:48.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	310	54,343.00	XOSL
1TVN9DMHQ	2026-02-16	2026-02-16 10:03:49.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.40000000	NOK	65	11,401.00	XOSL
1TVN9DMHR	2026-02-16	2026-02-16 10:03:49.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.40000000	NOK	250	43,850.00	XOSL
1TVN9DMHS	2026-02-16	2026-02-16 10:04:00.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	199	34,864.80	XOSL

1TVN9DMHT	2026-02-16	2026-02-16 10:04:00.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	111	19,447.20	XOSL
1TVN9DMKS	2026-02-16	2026-02-16 10:10:15.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	265	46,454.50	XOSL
1TVN9DMNZ	2026-02-16	2026-02-16 10:14:36.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	312	54,818.40	XOSL
1TVN9DMO1	2026-02-16	2026-02-16 10:14:37.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	330	57,948.00	XOSL
1TVN9DMOY	2026-02-16	2026-02-16 10:16:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	265	46,507.50	XOSL
1TVN9DMRT	2026-02-16	2026-02-16 10:18:43.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	267	46,858.50	XOSL
1TVN9DMSM	2026-02-16	2026-02-16 10:18:46.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	262	45,981.00	XOSL
1TVN9DMT0	2026-02-16	2026-02-16 10:19:08.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.40000000	NOK	315	55,251.00	XOSL
1TVN9DMTB	2026-02-16	2026-02-16 10:19:28.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	49	8,604.40	XOSL
1TVN9DMTC	2026-02-16	2026-02-16 10:19:28.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	64	11,238.40	XOSL
1TVN9DMTD	2026-02-16	2026-02-16 10:19:31.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	211	37,051.60	XOSL
1TVN9DMTO	2026-02-16	2026-02-16 10:20:15.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	93	16,321.50	XOSL
1TVN9DMTP	2026-02-16	2026-02-16 10:20:15.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	224	39,312.00	XOSL
1TVN9DMUY	2026-02-16	2026-02-16 10:23:52.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	258	45,279.00	XOSL
1TVN9DMWE	2026-02-16	2026-02-16 10:27:08.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	452	79,506.80	XOSL
1TVN9DMZN	2026-02-16	2026-02-16 10:35:17.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	143	25,182.30	XOSL
1TVN9DMZO	2026-02-16	2026-02-16 10:35:17.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	247	43,496.70	XOSL
1TVN9DN46	2026-02-16	2026-02-16 10:44:27.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	23	4,048.00	XOSL
1TVN9DN47	2026-02-16	2026-02-16 10:44:27.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	223	39,248.00	XOSL
1TVN9DN6I	2026-02-16	2026-02-16 10:49:16.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	255	44,880.00	XOSL
1TVN9DN6M	2026-02-16	2026-02-16 10:49:16.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	265	46,613.50	XOSL
1TVN9DN8H	2026-02-16	2026-02-16 10:53:48.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	320	56,224.00	XOSL
1TVN9DN95	2026-02-16	2026-02-16 10:54:05.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	261	45,805.50	XOSL
1TVN9DN99	2026-02-16	2026-02-16 10:54:13.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.40000000	NOK	247	43,323.80	XOSL
1TVN9DNB4	2026-02-16	2026-02-16 10:56:59.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.40000000	NOK	267	46,831.80	XOSL
1TVN9DNJ2	2026-02-16	2026-02-16 11:13:12.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	267	46,911.90	XOSL
1TVN9DNL3	2026-02-16	2026-02-16 11:16:45.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	270	47,412.00	XOSL
1TVN9DNN4	2026-02-16	2026-02-16 11:22:55.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	249	43,724.40	XOSL
1TVN9DNSA	2026-02-16	2026-02-16 11:37:19.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	324	56,991.60	XOSL
1TVN9DNUG	2026-02-16	2026-02-16 11:41:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	234	41,137.20	XOSL
1TVN9DNUH	2026-02-16	2026-02-16 11:41:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	49	8,614.20	XOSL
1TVN9DNUY	2026-02-16	2026-02-16 11:42:20.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	288	50,601.60	XOSL
1TVN9DNWB	2026-02-16	2026-02-16 11:44:47.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	279	49,048.20	XOSL
1TVN9DO8A	2026-02-16	2026-02-16 12:23:15.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	289	50,806.20	XOSL

1TVN9DO8B	2026-02-16	2026-02-16 12:23:36.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	403	70,847.40	XOSL
1TVN9DOEN	2026-02-16	2026-02-16 12:49:49.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	455	79,989.00	XOSL
1TVN9DOGN	2026-02-16	2026-02-16 12:52:59.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	268	47,087.60	XOSL
1TVN9DOK5	2026-02-16	2026-02-16 13:05:33.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	90	15,822.00	XOSL
1TVN9DOLL	2026-02-16	2026-02-16 13:12:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	64	11,251.20	XOSL
1TVN9DOLM	2026-02-16	2026-02-16 13:12:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	107	18,810.60	XOSL
1TVN9DOMQ	2026-02-16	2026-02-16 13:16:18.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	266	46,736.20	XOSL
1TVN9DOMS	2026-02-16	2026-02-16 13:16:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	890	156,284.00	XOSL
1TVN9DOMT	2026-02-16	2026-02-16 13:16:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	110	19,316.00	XOSL
1TVN9DOMU	2026-02-16	2026-02-16 13:16:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	273	47,938.80	XOSL
1TVN9DOMV	2026-02-16	2026-02-16 13:16:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	462	81,127.20	XOSL
1TVN9DOMW	2026-02-16	2026-02-16 13:16:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	538	94,472.80	XOSL
1TVN9DOMX	2026-02-16	2026-02-16 13:16:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	769	135,036.40	XOSL
1TVN9DOMY	2026-02-16	2026-02-16 13:16:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	121	21,247.60	XOSL
1TVN9DOMZ	2026-02-16	2026-02-16 13:16:24.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	90	15,804.00	XOSL
1TVN9DOOR	2026-02-16	2026-02-16 13:24:04.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	334	58,717.20	XOSL
1TVN9DOOV	2026-02-16	2026-02-16 13:24:28.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	207	36,369.90	XOSL
1TVN9DOOW	2026-02-16	2026-02-16 13:24:28.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	55	9,663.50	XOSL
1TVN9DOQB	2026-02-16	2026-02-16 13:30:17.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	84	14,758.80	XOSL
1TVN9DOQC	2026-02-16	2026-02-16 13:30:17.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	293	51,480.10	XOSL
1TVN9DOS4	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	20	3,512.00	XOSL
1TVN9DOS8	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	462	81,127.20	XOSL
1TVN9DOS9	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	462	81,127.20	XOSL
1TVN9DOSA	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	76	13,345.60	XOSL
1TVN9DOSB	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	2,018	354,360.80	XOSL
1TVN9DOSC	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	76	13,345.60	XOSL
1TVN9DOSD	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	462	81,127.20	XOSL
1TVN9DOSE	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	462	81,127.20	XOSL
1TVN9DOSF	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	76	13,345.60	XOSL
1TVN9DOSG	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	1,000	175,600.00	XOSL
1TVN9DOSH	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	73	12,818.80	XOSL
1TVN9DOSI	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	253	44,426.80	XOSL
1TVN9DOSJ	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	674	118,354.40	XOSL
1TVN9DOSK	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	72	12,643.20	XOSL

1TVN9DOSL	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	462	81,127.20	XOSL
1TVN9DOSM	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	372	65,323.20	XOSL
1TVN9DOSN	2026-02-16	2026-02-16 13:37:06.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	376	66,025.60	XOSL
1TVN9DOUK	2026-02-16	2026-02-16 13:42:25.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	284	49,870.40	XOSL
1TVN9DOUN	2026-02-16	2026-02-16 13:42:44.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	40	7,024.00	XOSL
1TVN9DOUO	2026-02-16	2026-02-16 13:42:44.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	181	31,783.60	XOSL
1TVN9DOUR	2026-02-16	2026-02-16 13:43:11.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	300	52,680.00	XOSL
1TVN9DOVD	2026-02-16	2026-02-16 13:44:44.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	46	8,077.60	XOSL
1TVN9DOWZ	2026-02-16	2026-02-16 13:49:31.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	283	49,723.10	XOSL
1TVN9DOX2	2026-02-16	2026-02-16 13:49:31.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	167	29,358.60	XOSL
1TVN9DOX3	2026-02-16	2026-02-16 13:49:31.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	329	57,838.20	XOSL
1TVN9DOX7	2026-02-16	2026-02-16 13:49:50.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	268	47,060.80	XOSL
1TVN9DP08	2026-02-16	2026-02-16 14:01:07.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.40000000	NOK	466	81,736.40	XOSL
1TVN9DP3P	2026-02-16	2026-02-16 14:20:40.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.60000000	NOK	436	76,561.60	XOSL
1TVN9DP71	2026-02-16	2026-02-16 14:36:16.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.50000000	NOK	247	43,348.50	XOSL
1TVN9DPC5	2026-02-16	2026-02-16 14:49:50.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	436	76,430.80	XOSL
1TVN9DPGG	2026-02-16	2026-02-16 14:55:29.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	288	50,486.40	XOSL
1TVN9DPIW	2026-02-16	2026-02-16 15:03:44.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	123	21,549.60	XOSL
1TVN9DPJD	2026-02-16	2026-02-16 15:05:41.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	334	58,516.80	XOSL
1TVN9DPLJ	2026-02-16	2026-02-16 15:14:02.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	279	48,908.70	XOSL
1TVN9DPLM	2026-02-16	2026-02-16 15:14:02.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	2,612	457,883.60	XOSL
1TVN9DPLR	2026-02-16	2026-02-16 15:14:30.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	12	2,103.60	XOSL
1TVN9DPLS	2026-02-16	2026-02-16 15:14:30.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	52	9,115.60	XOSL
1TVN9DPLT	2026-02-16	2026-02-16 15:15:08.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	27	4,733.10	XOSL
1TVN9DPMA	2026-02-16	2026-02-16 15:16:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	545	95,538.50	XOSL
1TVN9DPMB	2026-02-16	2026-02-16 15:16:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	1,752	307,125.60	XOSL
1TVN9DPMD	2026-02-16	2026-02-16 15:16:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	32	5,606.40	XOSL
1TVN9DPME	2026-02-16	2026-02-16 15:16:56.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	89	15,592.80	XOSL
1TVN9DPNQ	2026-02-16	2026-02-16 15:18:32.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	146	25,579.20	XOSL
1TVN9DPP9	2026-02-16	2026-02-16 15:22:31.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	12	2,102.40	XOSL
1TVN9DPQ1	2026-02-16	2026-02-16 15:23:30.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	246	43,074.60	XOSL
1TVN9DPQ6	2026-02-16	2026-02-16 15:23:30.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	133	23,301.60	XOSL
1TVN9DPQ7	2026-02-16	2026-02-16 15:23:30.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	111	19,447.20	XOSL
1TVN9DPQG	2026-02-16	2026-02-16 15:24:33.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	341	59,709.10	XOSL

1TVN9DPR0	2026-02-16	2026-02-16 15:25:55.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.00000000	NOK	314	54,950.00	XOSL
1TVN9DPS4	2026-02-16	2026-02-16 15:27:27.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.00000000	NOK	248	43,400.00	XOSL
1TVN9DPU0	2026-02-16	2026-02-16 15:30:14.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	161	28,191.10	XOSL
1TVN9DPU1	2026-02-16	2026-02-16 15:30:14.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	314	54,981.40	XOSL
1TVN9DPU9	2026-02-16	2026-02-16 15:30:23.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.00000000	NOK	354	61,950.00	XOSL
1TVN9DPVN	2026-02-16	2026-02-16 15:31:31.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.00000000	NOK	443	77,525.00	XOSL
1TVN9DPWO	2026-02-16	2026-02-16 15:32:00.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	174.90000000	NOK	323	56,492.70	XOSL
1TVN9DQ15	2026-02-16	2026-02-16 15:34:27.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	8	1,401.60	XOSL
1TVN9DQ19	2026-02-16	2026-02-16 15:35:00.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	244	42,748.80	XOSL
1TVN9DQ1C	2026-02-16	2026-02-16 15:35:00.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	246	43,074.60	XOSL
1TVN9DQ70	2026-02-16	2026-02-16 15:48:38.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	28	4,902.80	XOSL
1TVN9DQ7P	2026-02-16	2026-02-16 15:48:38.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	15	2,626.50	XOSL
1TVN9DQ7Q	2026-02-16	2026-02-16 15:48:38.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.10000000	NOK	178	31,167.80	XOSL
1TVN9DQ88	2026-02-16	2026-02-16 15:49:30.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	286	50,107.20	XOSL
1TVN9DQBJ	2026-02-16	2026-02-16 16:01:31.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	260	45,552.00	XOSL
1TVN9DQDF	2026-02-16	2026-02-16 16:06:25.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	190	33,307.00	XOSL
1TVN9DQDG	2026-02-16	2026-02-16 16:06:29.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	74	12,972.20	XOSL
1TVN9DQE6	2026-02-16	2026-02-16 16:08:53.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.30000000	NOK	276	48,382.80	XOSL
1TVN9DQEF	2026-02-16	2026-02-16 16:09:20.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	260	45,552.00	XOSL
1TVN9DQFJ	2026-02-16	2026-02-16 16:12:45.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.20000000	NOK	394	69,028.80	XOSL
1TVN9DQOI	2026-02-16	2026-02-16 16:25:26.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	3,690	648,702.00	XOSL
1TVN9DQOJ	2026-02-16	2026-02-16 16:25:26.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	14,030	2,466,474.00	XOSL
1TVN9DQOK	2026-02-16	2026-02-16 16:25:26.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	4,538	797,780.40	XOSL
1TVN9DQOM	2026-02-16	2026-02-16 16:25:26.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	2,398	421,568.40	XOSL
1TVN9DQON	2026-02-16	2026-02-16 16:25:26.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	31	5,449.80	XOSL
1TVN9DQOO	2026-02-16	2026-02-16 16:25:26.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	1	175.80	XOSL
1TVN9DQOP	2026-02-16	2026-02-16 16:25:26.000	2026-02-18	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	29	5,098.20	XOSL
1TVN9DRZ4	2026-02-17	2026-02-17 09:00:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	109	19,184.00	XOSL
1TVN9DRZ5	2026-02-17	2026-02-17 09:00:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	8	1,408.00	XOSL
1TVN9DRZ6	2026-02-17	2026-02-17 09:00:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	111	19,536.00	XOSL
1TVN9DRZ7	2026-02-17	2026-02-17 09:00:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	51	8,976.00	XOSL
1TVN9DRZ8	2026-02-17	2026-02-17 09:00:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	116	20,416.00	XOSL
1TVN9DS0J	2026-02-17	2026-02-17 09:00:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	253	44,477.40	XOSL
1TVN9DS0L	2026-02-17	2026-02-17 09:00:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	255	44,803.50	XOSL

1TVN9DSCM	2026-02-17	2026-02-17 09:05:46.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	286	50,278.80	XOSL
1TVN9DSKC	2026-02-17	2026-02-17 09:15:59.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	250	43,950.00	XOSL
1TVN9DSKD	2026-02-17	2026-02-17 09:15:59.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.70000000	NOK	245	43,046.50	XOSL
1TVN9DSTA	2026-02-17	2026-02-17 09:37:26.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	423	74,448.00	XOSL
1TVN9DSXX	2026-02-17	2026-02-17 09:42:07.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	262	46,138.20	XOSL
1TVN9DSY8	2026-02-17	2026-02-17 09:42:29.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	273	48,048.00	XOSL
1TVN9DSYB	2026-02-17	2026-02-17 09:42:39.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	42	7,387.80	XOSL
1TVN9DT2F	2026-02-17	2026-02-17 09:51:08.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	414	72,946.80	XOSL
1TVN9DT9D	2026-02-17	2026-02-17 10:04:19.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	266	46,842.60	XOSL
1TVN9DTA6	2026-02-17	2026-02-17 10:06:49.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	200	35,220.00	XOSL
1TVN9DTAK	2026-02-17	2026-02-17 10:07:26.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	56	9,861.60	XOSL
1TVN9DTAS	2026-02-17	2026-02-17 10:08:18.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	246	43,320.60	XOSL
1TVN9DTBT	2026-02-17	2026-02-17 10:11:18.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	257	45,232.00	XOSL
1TVN9DTCE	2026-02-17	2026-02-17 10:12:06.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	244	42,919.60	XOSL
1TVN9DTCM	2026-02-17	2026-02-17 10:12:42.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	466	81,969.40	XOSL
1TVN9DTNJ	2026-02-17	2026-02-17 10:32:28.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	332	58,365.60	XOSL
1TVN9DTWF	2026-02-17	2026-02-17 11:05:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	247	43,521.40	XOSL
1TVN9DTWN	2026-02-17	2026-02-17 11:05:16.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	244	42,968.40	XOSL
1TVN9DTX4	2026-02-17	2026-02-17 11:06:29.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	250	44,050.00	XOSL
1TVN9DTXS	2026-02-17	2026-02-17 11:08:43.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	160	28,192.00	XOSL
1TVN9DU2T	2026-02-17	2026-02-17 11:21:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	14	2,466.80	XOSL
1TVN9DU2U	2026-02-17	2026-02-17 11:21:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	295	51,979.00	XOSL
1TVN9DU4U	2026-02-17	2026-02-17 11:27:47.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	297	52,301.70	XOSL
1TVN9DUA5	2026-02-17	2026-02-17 11:39:48.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	282	49,716.60	XOSL
1TVN9DUAH	2026-02-17	2026-02-17 11:40:47.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	293	51,626.60	XOSL
1TVN9DUEC	2026-02-17	2026-02-17 11:47:39.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	121	21,296.00	XOSL
1TVN9DUEX	2026-02-17	2026-02-17 11:50:16.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	125	22,000.00	XOSL
1TVN9DUM0	2026-02-17	2026-02-17 12:15:30.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.40000000	NOK	258	45,511.20	XOSL
1TVN9DUNM	2026-02-17	2026-02-17 12:18:37.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	190	33,497.00	XOSL
1TVN9DUNO	2026-02-17	2026-02-17 12:18:37.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	66	11,635.80	XOSL
1TVN9DUNV	2026-02-17	2026-02-17 12:18:37.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	38	6,695.60	XOSL
1TVN9DUNW	2026-02-17	2026-02-17 12:18:37.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	210	37,002.00	XOSL
1TVN9DUTM	2026-02-17	2026-02-17 12:43:20.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	447	78,761.40	XOSL
1TVN9DUX7	2026-02-17	2026-02-17 12:58:13.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.50000000	NOK	245	43,242.50	XOSL

1TVN9DUZ2	2026-02-17	2026-02-17 13:02:22.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.40000000	NOK	243	42,865.20	XOSL
1TVN9DUZR	2026-02-17	2026-02-17 13:04:26.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	44	7,752.80	XOSL
1TVN9DUZT	2026-02-17	2026-02-17 13:04:43.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	201	35,416.20	XOSL
1TVN9DV4L	2026-02-17	2026-02-17 13:15:59.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	64	11,276.80	XOSL
1TVN9DV4M	2026-02-17	2026-02-17 13:15:59.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	182	32,068.40	XOSL
1TVN9DV90	2026-02-17	2026-02-17 13:29:36.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	73	12,848.00	XOSL
1TVN9DV91	2026-02-17	2026-02-17 13:29:36.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	15	2,640.00	XOSL
1TVN9DV92	2026-02-17	2026-02-17 13:29:36.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	155	27,280.00	XOSL
1TVN9DVE7	2026-02-17	2026-02-17 13:50:09.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	404	71,063.60	XOSL
1TVN9DVE8	2026-02-17	2026-02-17 13:50:09.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	57	10,026.30	XOSL
1TVN9DVI2	2026-02-17	2026-02-17 14:08:12.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.80000000	NOK	462	81,219.60	XOSL
1TVN9DVJQ	2026-02-17	2026-02-17 14:15:28.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	260	45,786.00	XOSL
1TVN9DVMQ	2026-02-17	2026-02-17 14:33:13.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	263	46,366.90	XOSL
1TVN9DVWA	2026-02-17	2026-02-17 14:51:07.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.40000000	NOK	116	20,462.40	XOSL
1TVN9DVWB	2026-02-17	2026-02-17 14:51:07.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.40000000	NOK	127	22,402.80	XOSL
1TVN9DW5U	2026-02-17	2026-02-17 15:08:03.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	449	79,113.80	XOSL
1TVN9DW7Z	2026-02-17	2026-02-17 15:13:47.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	283	49,836.30	XOSL
1TVN9DWDU	2026-02-17	2026-02-17 15:22:53.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	2	352.40	XOSL
1TVN9DWEN	2026-02-17	2026-02-17 15:24:56.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	14	2,466.80	XOSL
1TVN9DWEO	2026-02-17	2026-02-17 15:24:56.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	230	40,526.00	XOSL
1TVN9DWNH	2026-02-17	2026-02-17 15:38:26.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	462	81,312.00	XOSL
1TVN9DWNR	2026-02-17	2026-02-17 15:38:45.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	175.90000000	NOK	254	44,678.60	XOSL
1TVN9DWU3	2026-02-17	2026-02-17 15:50:34.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	298	52,537.40	XOSL
1TVN9DX1H	2026-02-17	2026-02-17 16:03:47.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	473	83,389.90	XOSL
1TVN9DX3Y	2026-02-17	2026-02-17 16:08:38.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	168	29,601.60	XOSL
1TVN9DX5B	2026-02-17	2026-02-17 16:11:39.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	75	13,215.00	XOSL
1TVN9DX5G	2026-02-17	2026-02-17 16:11:42.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	41	7,220.10	XOSL
1TVN9DX5J	2026-02-17	2026-02-17 16:12:07.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	245	43,144.50	XOSL
1TVN9DX6L	2026-02-17	2026-02-17 16:13:01.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	291	51,216.00	XOSL
1TVN9DXA7	2026-02-17	2026-02-17 16:19:52.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	413	72,688.00	XOSL
1TVN9DXEB	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	500	88,100.00	XOSL
1TVN9DXEC	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	2,093	368,786.60	XOSL
1TVN9DXED	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	3,211	565,778.20	XOSL
1TVN9DXEE	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	2,179	383,939.80	XOSL

1TVN9DXEF	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	1,152	202,982.40	XOSL
1TVN9DXEG	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	3	528.60	XOSL
1TVN9DXEH	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	5,180	912,716.00	XOSL
1TVN9DXEI	2026-02-17	2026-02-17 16:25:04.000	2026-02-19	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	784	138,140.80	XOSL
1TVN9DZ52	2026-02-18	2026-02-18 09:00:06.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	201	35,516.70	XOSL
1TVN9DZ53	2026-02-18	2026-02-18 09:00:06.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	13	2,297.10	XOSL
1TVN9DZ56	2026-02-18	2026-02-18 09:00:06.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	61	10,778.70	XOSL
1TVN9DZ57	2026-02-18	2026-02-18 09:00:06.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	5	883.50	XOSL
1TVN9DZAM	2026-02-18	2026-02-18 09:00:19.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	393	69,443.10	XOSL
1TVN9DZN7	2026-02-18	2026-02-18 09:09:10.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	373	65,685.30	XOSL
1TVN9DZNM	2026-02-18	2026-02-18 09:09:40.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	309	54,445.80	XOSL
1TVN9DZSK	2026-02-18	2026-02-18 09:16:15.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.00000000	NOK	280	49,280.00	XOSL
1TVN9DZW1	2026-02-18	2026-02-18 09:20:28.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.60000000	NOK	290	51,214.00	XOSL
1TVN9DZVY	2026-02-18	2026-02-18 09:20:28.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.40000000	NOK	244	43,041.60	XOSL
1TVN9DZWX	2026-02-18	2026-02-18 09:21:52.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.40000000	NOK	273	48,157.20	XOSL
1TVN9DZXV	2026-02-18	2026-02-18 09:23:42.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	392	69,109.60	XOSL
1TVN9DZY1	2026-02-18	2026-02-18 09:23:53.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.10000000	NOK	289	50,892.90	XOSL
1TVN9E088	2026-02-18	2026-02-18 09:40:14.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.30000000	NOK	286	50,421.80	XOSL
1TVN9E099	2026-02-18	2026-02-18 09:43:07.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.20000000	NOK	384	67,660.80	XOSL
1TVN9E0D6	2026-02-18	2026-02-18 09:47:55.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.50000000	NOK	254	44,831.00	XOSL
1TVN9E0ES	2026-02-18	2026-02-18 09:51:02.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.40000000	NOK	258	45,511.20	XOSL
1TVN9E0LW	2026-02-18	2026-02-18 10:00:22.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.80000000	NOK	262	46,321.60	XOSL
1TVN9E0P8	2026-02-18	2026-02-18 10:08:08.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	266	47,055.40	XOSL
1TVN9E0QT	2026-02-18	2026-02-18 10:10:43.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	70	12,383.00	XOSL
1TVN9E0QU	2026-02-18	2026-02-18 10:10:43.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	201	35,556.90	XOSL
1TVN9E0RT	2026-02-18	2026-02-18 10:13:14.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.80000000	NOK	344	60,819.20	XOSL
1TVN9E0WG	2026-02-18	2026-02-18 10:21:17.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	70	12,369.00	XOSL
1TVN9E0WH	2026-02-18	2026-02-18 10:21:17.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	256	45,235.20	XOSL
1TVN9E14K	2026-02-18	2026-02-18 10:39:32.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	379	67,045.10	XOSL
1TVN9E16Q	2026-02-18	2026-02-18 10:44:28.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	151	26,711.90	XOSL
1TVN9E16R	2026-02-18	2026-02-18 10:44:28.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	107	18,928.30	XOSL
1TVN9E19N	2026-02-18	2026-02-18 10:52:10.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	287	50,799.00	XOSL
1TVN9E1FZ	2026-02-18	2026-02-18 11:08:33.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	313	55,401.00	XOSL
1TVN9E1GF	2026-02-18	2026-02-18 11:09:26.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	275	48,647.50	XOSL

1TVN9E1L5	2026-02-18	2026-02-18 11:15:44.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	244	43,188.00	XOSL
1TVN9E1NH	2026-02-18	2026-02-18 11:20:02.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	248	43,871.20	XOSL
1TVN9E1R4	2026-02-18	2026-02-18 11:25:37.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	329	58,200.10	XOSL
1TVN9E1VI	2026-02-18	2026-02-18 11:37:54.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.70000000	NOK	406	71,740.20	XOSL
1TVN9E1WY	2026-02-18	2026-02-18 11:42:38.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	266	47,055.40	XOSL
1TVN9E20T	2026-02-18	2026-02-18 11:53:14.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	89	15,753.00	XOSL
1TVN9E244	2026-02-18	2026-02-18 12:03:53.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	155	27,435.00	XOSL
1TVN9E25M	2026-02-18	2026-02-18 12:07:52.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	176.90000000	NOK	244	43,163.60	XOSL
1TVN9E2BQ	2026-02-18	2026-02-18 12:25:24.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	353	62,481.00	XOSL
1TVN9E2BS	2026-02-18	2026-02-18 12:25:24.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	29	5,133.00	XOSL
1TVN9E2BT	2026-02-18	2026-02-18 12:25:24.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.10000000	NOK	629	111,395.90	XOSL
1TVN9E2EO	2026-02-18	2026-02-18 12:32:40.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.00000000	NOK	276	48,852.00	XOSL
1TVN9E2G7	2026-02-18	2026-02-18 12:38:31.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.20000000	NOK	460	81,512.00	XOSL
1TVN9E2I0	2026-02-18	2026-02-18 12:46:03.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	100	17,730.00	XOSL
1TVN9E2I1	2026-02-18	2026-02-18 12:46:03.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	255	45,211.50	XOSL
1TVN9E2I2	2026-02-18	2026-02-18 12:46:03.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	256	45,388.80	XOSL
1TVN9E2I3	2026-02-18	2026-02-18 12:46:03.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	256	45,388.80	XOSL
1TVN9E2I4	2026-02-18	2026-02-18 12:46:03.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	15	2,659.50	XOSL
1TVN9E2I5	2026-02-18	2026-02-18 12:46:04.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	241	42,729.30	XOSL
1TVN9E2I6	2026-02-18	2026-02-18 12:46:04.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	545	96,628.50	XOSL
1TVN9E2IY	2026-02-18	2026-02-18 12:49:25.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.20000000	NOK	285	50,502.00	XOSL
1TVN9E2JJ	2026-02-18	2026-02-18 12:52:49.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.20000000	NOK	361	63,969.20	XOSL
1TVN9E2PT	2026-02-18	2026-02-18 13:08:45.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.20000000	NOK	432	76,550.40	XOSL
1TVN9E2QP	2026-02-18	2026-02-18 13:08:48.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.20000000	NOK	496	87,891.20	XOSL
1TVN9E2S2	2026-02-18	2026-02-18 13:11:23.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.50000000	NOK	13	2,307.50	XOSL
1TVN9E2SG	2026-02-18	2026-02-18 13:12:52.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.60000000	NOK	334	59,318.40	XOSL
1TVN9E2UG	2026-02-18	2026-02-18 13:25:12.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	380	67,412.00	XOSL
1TVN9E2UW	2026-02-18	2026-02-18 13:25:55.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	245	43,438.50	XOSL
1TVN9E2ZV	2026-02-18	2026-02-18 13:44:10.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	244	43,285.60	XOSL
1TVN9E30M	2026-02-18	2026-02-18 13:46:00.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	352	62,444.80	XOSL
1TVN9E32N	2026-02-18	2026-02-18 13:54:25.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	299	53,012.70	XOSL
1TVN9E34N	2026-02-18	2026-02-18 14:01:16.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	268	47,543.20	XOSL
1TVN9E34W	2026-02-18	2026-02-18 14:02:42.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	90	15,957.00	XOSL
1TVN9E34X	2026-02-18	2026-02-18 14:03:19.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	5	886.50	XOSL

1TVN9E34Y	2026-02-18	2026-02-18 14:03:19.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	150	26,595.00	XOSL
1TVN9E375	2026-02-18	2026-02-18 14:11:17.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	259	45,946.60	XOSL
1TVN9E377	2026-02-18	2026-02-18 14:11:18.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	329	58,364.60	XOSL
1TVN9E37D	2026-02-18	2026-02-18 14:11:27.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	43	7,623.90	XOSL
1TVN9E37F	2026-02-18	2026-02-18 14:11:27.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	89	15,779.70	XOSL
1TVN9E37G	2026-02-18	2026-02-18 14:11:27.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	123	21,807.90	XOSL
1TVN9E37Z	2026-02-18	2026-02-18 14:11:27.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	311	55,171.40	XOSL
1TVN9E380	2026-02-18	2026-02-18 14:11:27.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	262	46,452.60	XOSL
1TVN9E381	2026-02-18	2026-02-18 14:11:28.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	139	24,658.60	XOSL
1TVN9E382	2026-02-18	2026-02-18 14:11:28.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	300	53,220.00	XOSL
1TVN9E383	2026-02-18	2026-02-18 14:11:28.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	200	35,480.00	XOSL
1TVN9E384	2026-02-18	2026-02-18 14:11:29.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.20000000	NOK	422	74,778.40	XOSL
1TVN9E38E	2026-02-18	2026-02-18 14:11:29.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	450	79,785.00	XOSL
1TVN9E38F	2026-02-18	2026-02-18 14:11:29.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	432	76,636.80	XOSL
1TVN9E3A4	2026-02-18	2026-02-18 14:15:55.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	582	103,421.40	XOSL
1TVN9E3A5	2026-02-18	2026-02-18 14:15:55.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	300	53,340.00	XOSL
1TVN9E3A6	2026-02-18	2026-02-18 14:15:56.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	405	71,968.50	XOSL
1TVN9E3BC	2026-02-18	2026-02-18 14:18:23.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	453	80,543.40	XOSL
1TVN9E3C1	2026-02-18	2026-02-18 14:21:02.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	245	43,536.50	XOSL
1TVN9E3FA	2026-02-18	2026-02-18 14:35:50.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	314	55,797.80	XOSL
1TVN9E3FB	2026-02-18	2026-02-18 14:35:50.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	21	3,731.70	XOSL
1TVN9E3G7	2026-02-18	2026-02-18 14:40:42.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	293	52,066.10	XOSL
1TVN9E3IB	2026-02-18	2026-02-18 14:48:36.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	295	52,421.50	XOSL
1TVN9E3IJ	2026-02-18	2026-02-18 14:49:05.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.60000000	NOK	249	44,222.40	XOSL
1TVN9E3IW	2026-02-18	2026-02-18 14:50:00.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.50000000	NOK	247	43,842.50	XOSL
1TVN9E3JN	2026-02-18	2026-02-18 14:54:30.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.60000000	NOK	247	43,867.20	XOSL
1TVN9E3MN	2026-02-18	2026-02-18 14:57:13.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	173	30,742.10	XOSL
1TVN9E3MO	2026-02-18	2026-02-18 14:57:13.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	6	1,066.20	XOSL
1TVN9E3MP	2026-02-18	2026-02-18 14:57:13.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	110	19,547.00	XOSL
1TVN9E3MU	2026-02-18	2026-02-18 14:57:14.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.50000000	NOK	248	44,020.00	XOSL
1TVN9E3MW	2026-02-18	2026-02-18 14:57:15.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	246	43,640.40	XOSL
1TVN9E3NP	2026-02-18	2026-02-18 14:59:11.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	248	43,970.40	XOSL
1TVN9E3QB	2026-02-18	2026-02-18 15:07:53.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	245	43,463.00	XOSL
1TVN9E3QQ	2026-02-18	2026-02-18 15:09:06.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.30000000	NOK	165	29,254.50	XOSL

1TVN9E3X3	2026-02-18	2026-02-18 15:26:23.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	277	49,250.60	XOSL
1TVN9E3Y6	2026-02-18	2026-02-18 15:30:11.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	278	49,428.40	XOSL
1TVN9E3YQ	2026-02-18	2026-02-18 15:30:54.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	261	46,405.80	XOSL
1TVN9E3Z1	2026-02-18	2026-02-18 15:31:11.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.90000000	NOK	263	46,787.70	XOSL
1TVN9E3Z2	2026-02-18	2026-02-18 15:31:13.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	385	68,453.00	XOSL
1TVN9E402	2026-02-18	2026-02-18 15:32:41.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.00000000	NOK	262	46,636.00	XOSL
1TVN9E40M	2026-02-18	2026-02-18 15:33:11.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	351	62,407.80	XOSL
1TVN9E400	2026-02-18	2026-02-18 15:33:11.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	882	156,819.60	XOSL
1TVN9E40R	2026-02-18	2026-02-18 15:33:12.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	529	94,056.20	XOSL
1TVN9E40S	2026-02-18	2026-02-18 15:33:12.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	185	32,893.00	XOSL
1TVN9E40T	2026-02-18	2026-02-18 15:33:12.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	168	29,870.40	XOSL
1TVN9E418	2026-02-18	2026-02-18 15:33:12.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.90000000	NOK	529	94,109.10	XOSL
1TVN9E419	2026-02-18	2026-02-18 15:33:12.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.90000000	NOK	194	34,512.60	XOSL
1TVN9E42H	2026-02-18	2026-02-18 15:35:01.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.90000000	NOK	249	44,297.10	XOSL
1TVN9E433	2026-02-18	2026-02-18 15:37:39.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	52	9,245.60	XOSL
1TVN9E435	2026-02-18	2026-02-18 15:37:39.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	304	54,051.20	XOSL
1TVN9E44I	2026-02-18	2026-02-18 15:41:32.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.90000000	NOK	56	9,962.40	XOSL
1TVN9E44J	2026-02-18	2026-02-18 15:41:32.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.90000000	NOK	92	16,366.80	XOSL
1TVN9E44K	2026-02-18	2026-02-18 15:41:32.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.90000000	NOK	183	32,555.70	XOSL
1TVN9E44U	2026-02-18	2026-02-18 15:42:14.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.00000000	NOK	4	712.00	XOSL
1TVN9E44V	2026-02-18	2026-02-18 15:42:14.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.00000000	NOK	115	20,470.00	XOSL
1TVN9E44W	2026-02-18	2026-02-18 15:42:14.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.00000000	NOK	46	8,188.00	XOSL
1TVN9E48J	2026-02-18	2026-02-18 15:49:29.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.80000000	NOK	287	51,028.60	XOSL
1TVN9E4AA	2026-02-18	2026-02-18 15:54:43.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	178	31,630.60	XOSL
1TVN9E4C3	2026-02-18	2026-02-18 15:58:42.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.40000000	NOK	222	39,382.80	XOSL
1TVN9E4DB	2026-02-18	2026-02-18 16:02:09.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.60000000	NOK	134	23,798.40	XOSL
1TVN9E4DC	2026-02-18	2026-02-18 16:02:09.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.60000000	NOK	134	23,798.40	XOSL
1TVN9E4DL	2026-02-18	2026-02-18 16:02:49.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.50000000	NOK	173	30,707.50	XOSL
1TVN9E4GT	2026-02-18	2026-02-18 16:08:08.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.70000000	NOK	131	23,278.70	XOSL
1TVN9E4IL	2026-02-18	2026-02-18 16:13:29.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.60000000	NOK	137	24,331.20	XOSL
1TVN9E4JQ	2026-02-18	2026-02-18 16:17:15.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	177.50000000	NOK	147	26,092.50	XOSL
1TVN9E4QT	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	491	87,545.30	XOSL
1TVN9E4QU	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	67	11,946.10	XOSL
1TVN9E4QV	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	936	166,888.80	XOSL

1TVN9E4QW	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	428	76,312.40	XOSL
1TVN9E4QX	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	10,463	1,865,552.90	XOSL
1TVN9E4QY	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	4,309	768,294.70	XOSL
1TVN9E4QZ	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	1,230	219,309.00	XOSL
1TVN9E4R0	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	2,903	517,604.90	XOSL
1TVN9E4RR	2026-02-18	2026-02-18 16:25:21.000	2026-02-20	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	6,465	1,152,709.50	XOSL
1TVN9E6F4	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	21	3,750.60	XOSL
1TVN9E6F5	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	132	23,575.20	XOSL
1TVN9E6F6	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	50	8,930.00	XOSL
1TVN9E6F7	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	7	1,250.20	XOSL
1TVN9E6F8	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	21	3,750.60	XOSL
1TVN9E6FD	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	19	3,393.40	XOSL
1TVN9E6FH	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	32	5,715.20	XOSL
1TVN9E6FI	2026-02-19	2026-02-19 09:00:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	59	10,537.40	XOSL
1TVN9E6LS	2026-02-19	2026-02-19 09:00:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	240	42,864.00	XOSL
1TVN9E6O0	2026-02-19	2026-02-19 09:02:15.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.50000000	NOK	242	43,197.00	XOSL
1TVN9E6PQ	2026-02-19	2026-02-19 09:03:56.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.70000000	NOK	240	42,888.00	XOSL
1TVN9E6PT	2026-02-19	2026-02-19 09:03:56.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.60000000	NOK	239	42,685.40	XOSL
1TVN9E6XL	2026-02-19	2026-02-19 09:11:44.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	348	62,570.40	XOSL
1TVN9E6XM	2026-02-19	2026-02-19 09:11:44.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.70000000	NOK	259	46,542.30	XOSL
1TVN9E6XO	2026-02-19	2026-02-19 09:11:44.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.90000000	NOK	16	2,878.40	XOSL
1TVN9E6XP	2026-02-19	2026-02-19 09:11:44.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.90000000	NOK	223	40,117.70	XOSL
1TVN9E6XQ	2026-02-19	2026-02-19 09:11:44.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	307	55,137.20	XOSL
1TVN9E6YH	2026-02-19	2026-02-19 09:12:08.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	243	43,691.40	XOSL
1TVN9E6Z2	2026-02-19	2026-02-19 09:12:43.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.70000000	NOK	243	43,667.10	XOSL
1TVN9E6Z5	2026-02-19	2026-02-19 09:12:43.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	254	45,618.40	XOSL
1TVN9E72U	2026-02-19	2026-02-19 09:15:43.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	55	9,856.00	XOSL
1TVN9E72V	2026-02-19	2026-02-19 09:15:43.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	327	58,598.40	XOSL
1TVN9E72W	2026-02-19	2026-02-19 09:15:43.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	10	1,792.00	XOSL
1TVN9E72X	2026-02-19	2026-02-19 09:15:43.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	82	14,694.40	XOSL
1TVN9E74S	2026-02-19	2026-02-19 09:17:20.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	284	50,892.80	XOSL
1TVN9E77M	2026-02-19	2026-02-19 09:22:40.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	7	1,253.70	XOSL
1TVN9E77N	2026-02-19	2026-02-19 09:22:40.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	220	39,402.00	XOSL
1TVN9E77O	2026-02-19	2026-02-19 09:22:41.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	175	31,342.50	XOSL

1TVN9E796	2026-02-19	2026-02-19 09:25:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	256	45,824.00	XOSL
1TVN9E7GE	2026-02-19	2026-02-19 09:32:12.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	201	35,838.30	XOSL
1TVN9E7GF	2026-02-19	2026-02-19 09:32:15.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	9	1,604.70	XOSL
1TVN9E7HG	2026-02-19	2026-02-19 09:33:31.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	18	3,209.40	XOSL
1TVN9E7HH	2026-02-19	2026-02-19 09:33:32.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.30000000	NOK	37	6,597.10	XOSL
1TVN9E7MA	2026-02-19	2026-02-19 09:40:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.50000000	NOK	360	64,260.00	XOSL
1TVN9E7RW	2026-02-19	2026-02-19 09:50:14.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	160	28,688.00	XOSL
1TVN9E7RX	2026-02-19	2026-02-19 09:50:14.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	79	14,164.70	XOSL
1TVN9E7RY	2026-02-19	2026-02-19 09:50:15.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	6	1,075.80	XOSL
1TVN9E7TC	2026-02-19	2026-02-19 09:51:58.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	345	61,789.50	XOSL
1TVN9E7TG	2026-02-19	2026-02-19 09:52:19.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	283	50,657.00	XOSL
1TVN9E7TN	2026-02-19	2026-02-19 09:52:19.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	245	43,904.00	XOSL
1TVN9E7TO	2026-02-19	2026-02-19 09:52:19.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	6	1,075.20	XOSL
1TVN9E7TP	2026-02-19	2026-02-19 09:52:19.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	207	37,094.40	XOSL
1TVN9E7W3	2026-02-19	2026-02-19 09:56:06.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	206	36,935.80	XOSL
1TVN9E7W4	2026-02-19	2026-02-19 09:56:06.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	233	41,776.90	XOSL
1TVN9E7WE	2026-02-19	2026-02-19 09:57:14.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	292	52,326.40	XOSL
1TVN9E7WZ	2026-02-19	2026-02-19 09:58:26.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	318	56,985.60	XOSL
1TVN9E7Y9	2026-02-19	2026-02-19 09:59:49.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	422	75,706.80	XOSL
1TVN9E7YT	2026-02-19	2026-02-19 10:00:54.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	280	50,176.00	XOSL
1TVN9E81D	2026-02-19	2026-02-19 10:06:44.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	265	47,541.00	XOSL
1TVN9E81H	2026-02-19	2026-02-19 10:07:07.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	240	43,032.00	XOSL
1TVN9E82Q	2026-02-19	2026-02-19 10:08:55.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	257	46,105.80	XOSL
1TVN9E82R	2026-02-19	2026-02-19 10:08:55.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	239	42,852.70	XOSL
1TVN9E87Z	2026-02-19	2026-02-19 10:26:23.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	347	62,251.80	XOSL
1TVN9E8CL	2026-02-19	2026-02-19 10:42:08.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	227	40,746.50	XOSL
1TVN9E8CM	2026-02-19	2026-02-19 10:42:08.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	12	2,154.00	XOSL
1TVN9E8DF	2026-02-19	2026-02-19 10:45:20.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	251	45,054.50	XOSL
1TVN9E8DI	2026-02-19	2026-02-19 10:45:21.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	279	50,052.60	XOSL
1TVN9E8LB	2026-02-19	2026-02-19 11:03:24.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	333	59,673.60	XOSL
1TVN9E8SU	2026-02-19	2026-02-19 11:17:00.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	402	71,998.20	XOSL
1TVN9E8YP	2026-02-19	2026-02-19 11:29:09.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.90000000	NOK	289	51,702.10	XOSL
1TVN9E901	2026-02-19	2026-02-19 11:32:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.80000000	NOK	287	51,315.60	XOSL
1TVN9E919	2026-02-19	2026-02-19 11:35:36.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.90000000	NOK	263	47,050.70	XOSL

1TVN9E93W	2026-02-19	2026-02-19 11:42:24.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.80000000	NOK	257	45,951.60	XOSL
1TVN9E97E	2026-02-19	2026-02-19 11:57:26.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.80000000	NOK	243	43,448.40	XOSL
1TVN9E9BH	2026-02-19	2026-02-19 12:04:52.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.70000000	NOK	245	43,781.50	XOSL
1TVN9E9EV	2026-02-19	2026-02-19 12:15:02.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.90000000	NOK	254	45,440.60	XOSL
1TVN9E9EX	2026-02-19	2026-02-19 12:15:02.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	414	74,106.00	XOSL
1TVN9E9FI	2026-02-19	2026-02-19 12:17:51.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.80000000	NOK	242	43,269.60	XOSL
1TVN9E9KM	2026-02-19	2026-02-19 12:29:14.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.90000000	NOK	307	54,922.30	XOSL
1TVN9E9N0	2026-02-19	2026-02-19 12:35:35.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.90000000	NOK	245	43,830.50	XOSL
1TVN9E9QO	2026-02-19	2026-02-19 12:51:12.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.80000000	NOK	255	45,594.00	XOSL
1TVN9E9VQ	2026-02-19	2026-02-19 13:10:48.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	240	43,032.00	XOSL
1TVN9E9YF	2026-02-19	2026-02-19 13:21:21.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	242	43,390.60	XOSL
1TVN9E9YY	2026-02-19	2026-02-19 13:25:54.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	243	43,569.90	XOSL
1TVN9EA0J	2026-02-19	2026-02-19 13:35:23.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	239	42,852.70	XOSL
1TVN9EA0V	2026-02-19	2026-02-19 13:35:34.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	127	22,745.70	XOSL
1TVN9EA0W	2026-02-19	2026-02-19 13:35:40.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	114	20,417.40	XOSL
1TVN9EA3W	2026-02-19	2026-02-19 13:48:30.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	244	43,700.40	XOSL
1TVN9EA8H	2026-02-19	2026-02-19 13:59:34.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	30	5,382.00	XOSL
1TVN9EA8I	2026-02-19	2026-02-19 13:59:34.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	213	38,212.20	XOSL
1TVN9EA9J	2026-02-19	2026-02-19 14:01:29.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	239	42,876.60	XOSL
1TVN9EAC3	2026-02-19	2026-02-19 14:08:12.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	244	43,822.40	XOSL
1TVN9EAD0	2026-02-19	2026-02-19 14:12:04.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	300	53,940.00	XOSL
1TVN9EADR	2026-02-19	2026-02-19 14:15:53.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	264	47,467.20	XOSL
1TVN9EADX	2026-02-19	2026-02-19 14:15:53.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	424	76,235.20	XOSL
1TVN9EADY	2026-02-19	2026-02-19 14:15:54.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.70000000	NOK	241	43,307.70	XOSL
1TVN9EAE2	2026-02-19	2026-02-19 14:15:57.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	239	42,924.40	XOSL
1TVN9EAH0	2026-02-19	2026-02-19 14:24:36.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	239	42,924.40	XOSL
1TVN9EALW	2026-02-19	2026-02-19 14:38:36.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.70000000	NOK	239	42,948.30	XOSL
1TVN9EAM0	2026-02-19	2026-02-19 14:38:36.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	60	10,788.00	XOSL
1TVN9EAM1	2026-02-19	2026-02-19 14:38:36.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	46	8,270.80	XOSL
1TVN9EAM2	2026-02-19	2026-02-19 14:38:36.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.80000000	NOK	133	23,913.40	XOSL
1TVN9EANF	2026-02-19	2026-02-19 14:44:51.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	241	43,283.60	XOSL
1TVN9EANO	2026-02-19	2026-02-19 14:45:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	241	43,259.50	XOSL
1TVN9EANQ	2026-02-19	2026-02-19 14:45:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	239	42,876.60	XOSL
1TVN9EAP9	2026-02-19	2026-02-19 14:52:31.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	302	54,209.00	XOSL

1TVN9EAQO	2026-02-19	2026-02-19 14:55:54.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	226	40,567.00	XOSL
1TVN9EARR	2026-02-19	2026-02-19 14:58:57.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	27	4,846.50	XOSL
1TVN9EASJ	2026-02-19	2026-02-19 15:01:35.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	244	43,798.00	XOSL
1TVN9EAU6	2026-02-19	2026-02-19 15:08:53.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	251	45,054.50	XOSL
1TVN9EAV7	2026-02-19	2026-02-19 15:10:04.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	162	29,079.00	XOSL
1TVN9EAV8	2026-02-19	2026-02-19 15:10:13.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.50000000	NOK	77	13,821.50	XOSL
1TVN9EAVZ	2026-02-19	2026-02-19 15:10:58.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	233	41,800.20	XOSL
1TVN9EAXB	2026-02-19	2026-02-19 15:13:42.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	240	43,104.00	XOSL
1TVN9EB2M	2026-02-19	2026-02-19 15:26:50.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	141	25,323.60	XOSL
1TVN9EB2Q	2026-02-19	2026-02-19 15:27:10.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	299	53,700.40	XOSL
1TVN9EB2S	2026-02-19	2026-02-19 15:27:10.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	506	90,877.60	XOSL
1TVN9EB3R	2026-02-19	2026-02-19 15:30:04.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	275	49,390.00	XOSL
1TVN9EB6J	2026-02-19	2026-02-19 15:32:31.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.70000000	NOK	246	44,206.20	XOSL
1TVN9EB6M	2026-02-19	2026-02-19 15:32:39.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	44	7,902.40	XOSL
1TVN9EB6N	2026-02-19	2026-02-19 15:32:39.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	217	38,973.20	XOSL
1TVN9EB9G	2026-02-19	2026-02-19 15:36:14.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	254	45,618.40	XOSL
1TVN9EBBS	2026-02-19	2026-02-19 15:40:34.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.70000000	NOK	240	43,128.00	XOSL
1TVN9EBDP	2026-02-19	2026-02-19 15:44:40.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.60000000	NOK	246	44,181.60	XOSL
1TVN9EBE1	2026-02-19	2026-02-19 15:44:43.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.40000000	NOK	243	43,594.20	XOSL
1TVN9EBGN	2026-02-19	2026-02-19 15:49:24.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	250	44,825.00	XOSL
1TVN9EBHK	2026-02-19	2026-02-19 15:51:41.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	287	51,430.40	XOSL
1TVN9EBHM	2026-02-19	2026-02-19 15:51:41.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	131	23,475.20	XOSL
1TVN9EBHV	2026-02-19	2026-02-19 15:51:41.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	128	22,924.80	XOSL
1TVN9EBHW	2026-02-19	2026-02-19 15:51:41.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	56	10,029.60	XOSL
1TVN9EBHY	2026-02-19	2026-02-19 15:51:41.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	248	44,416.80	XOSL
1TVN9EBII	2026-02-19	2026-02-19 15:53:32.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	226	40,454.00	XOSL
1TVN9EBIO	2026-02-19	2026-02-19 15:53:33.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.90000000	NOK	150	26,835.00	XOSL
1TVN9EBM3	2026-02-19	2026-02-19 15:59:59.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	301	53,909.10	XOSL
1TVN9EBN8	2026-02-19	2026-02-19 16:02:00.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	75	13,440.00	XOSL
1TVN9EBN9	2026-02-19	2026-02-19 16:02:00.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	92	16,486.40	XOSL
1TVN9EBNA	2026-02-19	2026-02-19 16:02:00.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	121	21,683.20	XOSL
1TVN9EBPC	2026-02-19	2026-02-19 16:05:05.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	196	35,084.00	XOSL
1TVN9EBPD	2026-02-19	2026-02-19 16:05:05.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	258	46,182.00	XOSL
1TVN9EBPJ	2026-02-19	2026-02-19 16:05:05.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	366	65,514.00	XOSL

1TVN9EBPK	2026-02-19	2026-02-19 16:05:05.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	156	27,924.00	XOSL
1TVN9EBPV	2026-02-19	2026-02-19 16:05:38.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	178.90000000	NOK	93	16,637.70	XOSL
1TVN9EBRQ	2026-02-19	2026-02-19 16:10:10.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	153	27,417.60	XOSL
1TVN9EBRR	2026-02-19	2026-02-19 16:10:10.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	170	30,481.00	XOSL
1TVN9EBRS	2026-02-19	2026-02-19 16:10:10.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	75	13,447.50	XOSL
1TVN9EBRT	2026-02-19	2026-02-19 16:10:10.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.30000000	NOK	18	3,227.40	XOSL
1TVN9EBRW	2026-02-19	2026-02-19 16:10:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	221	39,603.20	XOSL
1TVN9EBRX	2026-02-19	2026-02-19 16:10:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	173	31,001.60	XOSL
1TVN9EBRZ	2026-02-19	2026-02-19 16:10:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	276	49,459.20	XOSL
1TVN9EBSG	2026-02-19	2026-02-19 16:11:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	277	49,610.70	XOSL
1TVN9EBSH	2026-02-19	2026-02-19 16:11:28.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	245	43,879.50	XOSL
1TVN9EBTV	2026-02-19	2026-02-19 16:13:22.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	265	47,435.00	XOSL
1TVN9EBTW	2026-02-19	2026-02-19 16:13:22.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.00000000	NOK	243	43,497.00	XOSL
1TVN9EBWD	2026-02-19	2026-02-19 16:17:30.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	342	61,252.20	XOSL
1TVN9EBWE	2026-02-19	2026-02-19 16:17:30.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.10000000	NOK	236	42,267.60	XOSL
1TVN9EC1U	2026-02-19	2026-02-19 16:25:01.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	159	28,492.80	XOSL
1TVN9EC1V	2026-02-19	2026-02-19 16:25:01.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	12,585	2,255,232.00	XOSL
1TVN9EC39	2026-02-19	2026-02-19 16:25:01.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	2,336	418,611.20	XOSL
1TVN9EC3A	2026-02-19	2026-02-19 16:25:01.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	2,627	470,758.40	XOSL
1TVN9EC3B	2026-02-19	2026-02-19 16:25:01.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	43	7,705.60	XOSL
1TVN9EC3C	2026-02-19	2026-02-19 16:25:01.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	11	1,971.20	XOSL
1TVN9EC3D	2026-02-19	2026-02-19 16:25:01.000	2026-02-23	Buy	NO0003053605	XOSL	STOREBRAND	179.20000000	NOK	797	142,822.40	XOSL
1TVN9EEM0	2026-02-20	2026-02-20 10:09:11.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.00000000	NOK	166	30,046.00	XOSL
1TVN9EEM1	2026-02-20	2026-02-20 10:09:11.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.00000000	NOK	72	13,032.00	XOSL
1TVN9EEMR	2026-02-20	2026-02-20 10:11:37.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.90000000	NOK	273	49,385.70	XOSL
1TVN9EEOW	2026-02-20	2026-02-20 10:20:44.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.90000000	NOK	313	56,621.70	XOSL
1TVN9EEXM	2026-02-20	2026-02-20 10:59:13.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.80000000	NOK	242	43,753.60	XOSL
1TVN9EEZ7	2026-02-20	2026-02-20 11:04:33.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.80000000	NOK	247	44,657.60	XOSL
1TVN9EF5F	2026-02-20	2026-02-20 11:36:11.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.10000000	NOK	241	43,645.10	XOSL
1TVN9EF5R	2026-02-20	2026-02-20 11:37:37.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.00000000	NOK	243	43,983.00	XOSL
1TVN9EF81	2026-02-20	2026-02-20 11:47:42.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.60000000	NOK	240	43,344.00	XOSL
1TVN9EFE6	2026-02-20	2026-02-20 11:58:29.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL
1TVN9EFED	2026-02-20	2026-02-20 11:58:44.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL
1TVN9EFEG	2026-02-20	2026-02-20 11:58:59.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL

1TVN9EFEI	2026-02-20	2026-02-20 11:59:14.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL
1TVN9EFEP	2026-02-20	2026-02-20 11:59:29.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL
1TVN9EFES	2026-02-20	2026-02-20 11:59:44.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL
1TVN9EFEZ	2026-02-20	2026-02-20 11:59:59.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL
1TVN9EFF5	2026-02-20	2026-02-20 12:00:07.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	30	5,421.00	XOSL
1TVN9EFFK	2026-02-20	2026-02-20 12:00:55.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.60000000	NOK	240	43,344.00	XOSL
1TVN9EGS1	2026-02-20	2026-02-20 15:15:39.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	125	22,587.50	XOSL
1TVN9EGS2	2026-02-20	2026-02-20 15:15:39.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	1,875	338,812.50	XOSL
1TVN9EGS4	2026-02-20	2026-02-20 15:15:39.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	1,384	250,088.80	XOSL
1TVN9EGS5	2026-02-20	2026-02-20 15:15:39.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	298	53,848.60	XOSL
1TVN9EGS6	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	254	45,897.80	XOSL
1TVN9EGS7	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	64	11,564.80	XOSL
1TVN9EGS8	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	2,000	361,400.00	XOSL
1TVN9EGS9	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	4,096	740,147.20	XOSL
1TVN9EGSA	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	976	176,363.20	XOSL
1TVN9EGSB	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	1,024	185,036.80	XOSL
1TVN9EGSC	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	291	52,583.70	XOSL
1TVN9EGSD	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	375	67,762.50	XOSL
1TVN9EGSE	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	238	43,006.60	XOSL
1TVN9EGSF	2026-02-20	2026-02-20 15:15:41.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.70000000	NOK	408	73,725.60	XOSL
1TVN9EGWZ	2026-02-20	2026-02-20 15:24:49.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.00000000	NOK	457	82,717.00	XOSL
1TVN9EGZ5	2026-02-20	2026-02-20 15:31:32.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.00000000	NOK	427	77,287.00	XOSL
1TVN9EGZ8	2026-02-20	2026-02-20 15:31:32.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.90000000	NOK	360	65,124.00	XOSL
1TVN9EH0N	2026-02-20	2026-02-20 15:34:47.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.00000000	NOK	341	61,721.00	XOSL
1TVN9EH1N	2026-02-20	2026-02-20 15:37:26.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.90000000	NOK	34	6,150.60	XOSL
1TVN9EH39	2026-02-20	2026-02-20 15:40:35.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.00000000	NOK	256	46,336.00	XOSL
1TVN9EH4M	2026-02-20	2026-02-20 15:45:31.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	180.80000000	NOK	255	46,104.00	XOSL
1TVN9EHIX	2026-02-20	2026-02-20 16:07:22.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.30000000	NOK	27	4,895.10	XOSL
1TVN9EHIY	2026-02-20	2026-02-20 16:07:22.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.30000000	NOK	88	15,954.40	XOSL
1TVN9EHKC	2026-02-20	2026-02-20 16:11:42.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.40000000	NOK	166	30,112.40	XOSL
1TVN9EHKG	2026-02-20	2026-02-20 16:11:57.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.30000000	NOK	153	27,738.90	XOSL
1TVN9EHMB	2026-02-20	2026-02-20 16:14:44.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.20000000	NOK	19	3,442.80	XOSL
1TVN9EHMC	2026-02-20	2026-02-20 16:15:09.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.20000000	NOK	97	17,576.40	XOSL
1TVN9EHNT	2026-02-20	2026-02-20 16:17:04.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.60000000	NOK	298	54,116.80	XOSL

1TVN9EHNY	2026-02-20	2026-02-20 16:17:08.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.60000000	NOK	337	61,199.20	XOSL
1TVN9EHNZ	2026-02-20	2026-02-20 16:17:08.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.60000000	NOK	77	13,983.20	XOSL
1TVN9EHOF	2026-02-20	2026-02-20 16:17:46.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.80000000	NOK	73	13,271.40	XOSL
1TVN9EHOG	2026-02-20	2026-02-20 16:17:46.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.80000000	NOK	230	41,814.00	XOSL
1TVN9EHOX	2026-02-20	2026-02-20 16:18:19.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.80000000	NOK	196	35,632.80	XOSL
1TVN9EHPO	2026-02-20	2026-02-20 16:18:19.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	181.90000000	NOK	288	52,387.20	XOSL
1TVN9EHPU	2026-02-20	2026-02-20 16:19:50.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	182.00000000	NOK	330	60,060.00	XOSL
1TVN9EHV9	2026-02-20	2026-02-20 16:25:09.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	182.50000000	NOK	8,455	1,543,037.50	XOSL
1TVN9EHVA	2026-02-20	2026-02-20 16:25:09.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	182.50000000	NOK	160	29,200.00	XOSL
1TVN9EHVB	2026-02-20	2026-02-20 16:25:09.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	182.50000000	NOK	4,322	788,765.00	XOSL
1TVN9EHVC	2026-02-20	2026-02-20 16:25:09.000	2026-02-24	Buy	NO0003053605	XOSL	STOREBRAND	182.50000000	NOK	2,218	404,785.00	XOSL